_ ree
ConSfder the following for the next =

items that follow :

Let s (x) be a function satisfying f(xl-;i)zi
S&) £ ) for all x, y e N such e

L if (x) = 2044, then what is the
x=2
value of n ?

(@) 8

®) 9

©]10

@ 1

5
2. What is ¥, f(2x—1) equal to ?

x=1

(a) 341

(b)) 682

(c) 1023

(d) 1364

6
3. What is 32" f(x) equal to ?

x=1
(a) 1365
(b) 2730

(c) 4024

@ 5460

Consige
3 r th . .
(03) e ¢ followmg fc

r o
ms that follow - the ney, three

A Universg;

1ty awarded e '
" medals
:otball and volleyba)) 0:\1m ket ban,
b ©) BOt medal in g g g
the medals we .

Nt to a totg| :
It awarded 5y mcda?s S "
(4x + 15) medals In footba

medals ip volleyball.

4. How man el
y received medals ip ex
actl
two of the three sports ? ty

(@) 30-4x
(®) 35-7x
(©)) 40 - 7 7
(d) 45-5x

S. How many received medals in at least
two of three sports ?

(@) 30-6x Vi

(b) 35-6x

(e). 40— (

(d)) 40~ 6

6. How many received medals in exactly
one of three sports ?

@) 21x - 40

(b) 21x-35

(c) 20x- 35

(d) 20x-25
C - DFRGSMTH



Consiq
€T the followj
(03) tems that fl?f;:’? for the next three

0

2
L sin“ 0 cog?
et A= C052 0 9

SIN“ 6 cog? 0 0

: Q wh -
O is sk ere P is symmetric matrix and

CW-symmetric matrix.

0 12 90
@ (12 0 112
172 172 0

011
(b)(101
110

(0 -1 1
(c) cos26| 1 0 -
-1

I
(o0 -1/2 12
(d) cos26| 1/2 0o -1/2
(12 12 0

8. What is Q equal to ?
0 12 12
(@) |12 0 12
172 112 0

011
(b) 1 01
1139
0o -1 1
cos26| 1 g =
-1 1 0

(€)
o -12 12
cos26| 12 0 -12
@) 12 12 O

9. What is
determinant of A4 ?

(a)

-

(b)

(©)
(d

- Blw N

the minimum value of

Consider the following for the next three

(03) items that follow :
ABC is a triangular plot wi

th AB=16m,

BC=10m and CA=10m. A lamp Post is
situated at the middle point of the side AB.

The lamp post subten
vertex B.

ds an angle 45° at the

10. What is the height of the lamp post ?

(a) 6m

7m
gm
9m

12. What is cos A+ cos B+cosC equal to ?

(@ 1

41
®) 73

© 3%

@) 33

(o L/\\—:

N

\b

5 C - DFRG-S-MTH



Consider

th
(03) ¢ f()110wing for the ﬂext three

Itemg that follow -

There o

a lCaningc :(:VO points P and Q due south of

Pis at a g Wer, which leans towards north-

from the lstanCc Xand Qisata distance Y

—— of the tower (x>)

from P elevation of the top of the tower
o and Q are 15° and 75° respectively.

P

/ 13/’At what height is the top of the tower

'/ above the ground level ?

o3
< 443

6 53

x=p
@ %3

14. If O is the inclination of the tower to
the horizontal, then what is cot6 equal

to?

o 2
®) 2_«5&;)')
o 2 ﬁiiﬂ;y)
d) 2—1—3—)‘(1_—;!)

I5. What is the length of the tower ?

|
(@ X=X 1+ 2+£3_(,’.‘,+l)_2
2\!"3\‘ > o d

2
b) | 2= _3G+y)
(b) s 1+{2 =
@ 2Z hs 2+£’Eiy—)2
27 43 =)

2
@ =X i+ 2—3[—3(—’”—}2
fy 443 Yy

16. How many four-digit natural numbers
are there such that all of the digits are
odd?

(a)] 625

(b) 400
(c) 196
(d) 120
n
17. What is 22' C(n,r) equal to?
r=0

(a) 2"

)] 3"

(C) 22n
(@) 3%

C- DFRG-S-MTH




e lettefs

18. If differcot |

utations © TICS’ are

\ATHE g any
o.f tgea; S @ \hclionary,w ) are
h\:’(t):ds (with of wit\‘mu\ nc g ~vord
there in the list l‘vclm'n‘
that starts with ¢
(a) 302400
(b) 403600
(©) 907200
(d) 1814400
i men
19. Consider the following stat€ .
. e
1. If fis the subset of X ZZ} e
by f= {(p, XD x,y; 2 ;
fisa function from :
2. If fis the subset of N % N defined

by f= {0, x I %Y e N}, then

fis a function from N to N.

Which of the statements given above

is/are correct ?

(a) 1 only

(b)] 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

20. Consider the determinant

' UES
al al a 3
a{% aé‘ GL
If a3y af; a’g
minors o o gy, 5 and th

i ?z _a;_;, @, a33 are respectivele
W » (¥=X) then What ig the

@ @)=y
(b)

A=

%)
(x ~y)(y - z)(x =5

21.

22.

(c) (x .
~-x

(d) (X o~ Z)(x 4
Vi Y4
yz+2x)(x+ . z)
1
If A= 0 ,
&0 CosO S](r)]() \

shg } then wy:
Cosh Nigh

of the following are
co

o rrect 9
- At adig i
adjA is 4 null magriy
2: 41 A i
tadja is 4 null matriy
3.A-411

1S 2 null matrix
Se

lect .the correct answer ysip
code given below - s

(@) 1and2 only
(b) 2 and 3 only
(c) 1 and 3 only

(d)J 1,2 and 3

If X is a matrix of order 3x3, Yis a
matrix of order 2 x 3 and Z is a matrix
of order 3 x2, then which of the
following are correct ?

1. (ZY)X is a square matrix having
9 entries.

2. Y(XZ) is a squar® matrix having
4 entries.

3. X(YZ) is not defined.

1 e
Select the correct answer using th

code given below:

(@)1 and 2 only

(b) 2and3 only
(c) 1and 3 only
(d) | and 3

c-D



~eesevesrririn T LT R

23. For
bow many quadratic equations, the

sum of roots j duct of %6. Let p, g (p>g) be
POGES 9 s equal to the prodt i]:;ldratic equau(cm szrggotbsx 2{‘0 th
ere ¢>0. If p?+¢> llpg=
a prrdq rq=0,
3y 0 then what is p — ¢ equal to ?
®) 1
& 5 @) |3Je
d ; (b) 3
@ Infinitely many ) 3¢ fh
24. Consi bt
Consider the following statements : © e I‘%
i
1. The set of all irrational numbers @ 9¢ i
between /2 and /5 is an infinit® l{
set. &
27. What is the diameter of a circle i
2. The set of all odd integers lesS inscribed in a regular polygon of 12 i
than 100 is a finite set. sides, each of length 1 cm? ?
Which of the statements given above
is/are correct ? _ (@) 1++2cm
a)] 1 onl
@) Y (b) 2++2cm
(b) 2 only
_(ey Both 1 and 2 | (©)) 2+3 cm
d) Neither 1 nor 2
@ @ 3+V3cm
25. Consider the following statements
= 5
v 6+ +on=rttn 28. Let A= {7, 8,9, 10,11, 12,13, 14, 15,
L, gay | 16} and letf:A—>Nbe defined by
2. The expression n? +n+ 41 always f(x) = the highest prime factor of x.
gives a prime number for every How many elements are there in the
natural number 7 range of f?
» : |
Which of the above statements is/are @ 4 B R NG
. a
correct 7
(a) 1o0nly ®) 5
iy 2o () 6
(©) Both 1 and 2
@ Neither 197 2 | i

1 C - DFRG-S-MTH



deﬁ"°d

W N {0 4/\3}

g fio!
29. LctRbcarclauo ye N md a1¢ nof

by R= {(x,y)
Which of the
correct ?

fo llo“‘ne

Select :
code given below -

(a) 1and?2 only
(b) 2 and 3 only
(c) 1 and 3 only

@]|1,2and3

30. Consider the following :
1. ANB=ANC=>B=C

2. AUB=AUC=>B=C
Which of the above is/are correct ?
(a) 1 only
(b) | 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

31. What is the value of cosec( 73”)

(@

&

Sl

@

(c) 2%
@ -2

32. What is the value of
S5t n
cos( 17) + cos( 17)
11z
2eos{ o )

(a)] 0

(b) 1
(e 4cos(ﬁ) cos(ln_?)

/
@ 4 cos(%&) cos(%)

N

33. What is the value of tan(:z[)

(a) 2=
)] V2 +1
© 1-2

@ —{(v2+ 1)

34. What is tan™' cot(cosec” 12) equal to?

@@ 3

ol

(b)

©

&9

w|

(d)

_ pFRGSMTH
13



. o= L 38. Whatis*ihe;‘ir(alhebf
C, a= ' tan?165° + cot?165° 2
What is cos3C equal. ] ;

@ T
®) 125

—
N
(o]

ojidte
B

—

) -

(/c)

|

—
N
o0

A~




41.

42.

Consider the following St.atc,m
respect of the line pass"®
origin and inclining at a° ang
with the positive direction '

int
1. The line passes through the PO

=

2. The line entirely lies 1 first
third quadrants.
: ¢ o
Which of the statements given abov
is/are correct ?

(9)/1 only

(b) 2 only

(c) | Both 1 and 2

(d) Neither 1 nor 2

If P(3,4) is the mid-point of a line
segment between the axes, then what is
the equation of the line ?

(a) 3x+4y-25=0

()] 4x+3y-24=0

43.

(c) 4x-3y=0

(d) 3x—-4y+7=0

The base 4B of an equilateral trianal
ABC with side 8cr?1 liesrzllganﬂe
y-axis such that the mid-point °fiB e
at the origin and B lies aboye i
origin. What is the equation i fhe
passing through (8, 0) and line
the side AC?

paralle] ¢,

17

(a)

x=3y-g<
(®) x++3y-g_

i @x+y‘8\3=0

@ sy

44,
;[;,he centre _of the circle passi
: rough origin and making pOSil‘ir:lg
mtercepts 4 and 6 on the coordinate
axes, lies on the line )

(a) 2x—y+1=0

(b) 3x-2y-1=0

(c) |3x—4y+6=0

(d? 2x+3y—-26=0

45. The centre of an ellipse is at (0,0),
major axis is on the y-axis. If the
ellipse passes through (3, 2) and (1,6),
then what is its eccentricity ?

(a) 3/5—3-

() 3

©

N\&\

d 5

W

c- pFRGSMTP



Consider the following for the next th
ree

Consider th followil'lS:T’ (03) items that follow :
onsider (4

(03) items that follow: Let. B boithie Burh of st i posive term

: an increasing arithmetic progression A sLof
Q be the sum of first # positive e etf
another increasing arithmetic progression(;g

Let P: 0= (5n+4):(9n+6)

Let z= .!i'—s—@—a- where
1—isinf

Y&/
1 49. What is the ratio of the first term of 4
J— to that of B?
(b) ~2
a) 173
(© 1+sin0 /
l+sin26 ® e
T ) .
19' 1-sin"@ (c) 34
47, What is angle o-sgg at 2 is PUI @ )35
real ? '
@ nm . 50. What is the ratio of their 10th terms ?
DU R
dé 2“; : @ 11729
2 (b 22149
(@) ) 33/59
(d) 44/69

51. Ifd is the é;>mmon difference of A, and
D is the common difference of B, then

 which one of the following is alWays
correct ?

(@) None of the 3b0%¢
L

[}

e



Consider the f y
- 0110 three
(03) items that fon‘:;lg for the next

Consider

B the binomial expansion of

52. What .is the value of ¢ if the
coefficients of x* and x5 are equal?

(® p

(b) 9 p B

53. What is the ratio of the coefi
middle terms in the expansio

(@ P9

B ®)

(c) 4p54

Pl

@ 1@

54, Under what conditioﬂ"'
" of 2 and X are equal
(a) p:q==7:2
it/
,pz;q2=712

q=2:7

(© P:
@ P e

Consider the fi i
‘ ollowing for the next th
(03) items that follow : i

Consider the word ‘QUESTION’ :

55. How many 4-letter words each of two
vowels and two consonants with or
without meaning, can be formed ?

(a) 36

© 144

() 576

864

()

56. How many 8-letter words with or
without meaning, can be formed such
that consonants and vowels occupy

alternate positions ?
(a) 288
(b) 576

(©)) 1152

@ 2304
57, How many g-letter words with or
without meaning, can be formed soO

that all consonants are together ?

760

2880

(b)
() 1440

@ 720




Consider the
3 followi xt three 61. :
(03) items that follo::/‘g for the neé 1. Under which one of the following

conditions does the function
f(x) = (p secx)?+ (g cosecx)y’

Let A : :
be the determinant of 2 matrix 4 attain minimum value ?

ik ke
where 4 = 1L %12 4 : 254
=l ay and Cy1, C12» €13 (a) ) tan"x = o
ay, aj ay;
be the cofactors of ay, a1, a13 respectively ®) cot’x=1
P
58. What is the value of (¢) tan’x=pqg
a Cpy + a1,Cpp + a;sCi3? (d) cot’x=pq
@ O

62. Where does the function

7
byl - fx)=Y =i

Jj=1
(c) JA attain its minimum value ?
(d -A (@) x=35 \;,\
s b)|x=4 5

59. What is the value of . (c) x=45

ayC1 + aCr2 + @23C13? . @ x=5

@ 0- - ﬁ‘ _ 63. Consider the following statements in

®) 5 by respect o\f \the fur(;ctic\)n\ 3

x+1, 0<l|x|=
() A u& f(x)—{ L b
@ -4 g 2 1. The function attains maximum
: value only at x=3
oy x az 43 49y ~ 2. The function attains local mini-
60. What 15 the value of | a3 @33 ay3|? mum only at x=0
: ! ay _
} R, 21 Phedle Which of the statements given above
25w &5 . . (,
@ 0§ is/are correct ?
1 (@) 1 only
) ‘ iy (®)] 2 only
)
SO (©) Both 1and 2
@|-4 - d (d) Neither 1 nor 2

= -MTH
23 C - DFRG-S-M



64. What is j'(l)ln(%— 1)d_x equal t0 ?
(a) -1

b)) o

© 1

d) In2

/2
65. If jo (sin4x +cos*x)dx =k, then what

z 207
is the value of jo (sin4x+cos4x)dx ?

(a) k
(b) 10k

67. What is the area of the region enclosed
in the first quadrant by PHyP=n2
y =sinx and x=07

4
()il

(b)

(© ”7—1
(d) %—2

68. Consider the following statements :
1. The degree of the differential

.Y i
equation dx+cos( dx) =0 is 1.
2. The order of the differential equa-

3
. (a% ay\_oq;
tion (de) +cos(dx) =0 is 2.

Which of the statements given above
is/are correct ?

(a) 1 only

(b)] 2 only

@ Both 1 and 2
(d) Neither 1 nor 2

69. What is the differential equation of the
family of parabolas having vertex at
origin and axis along positive y-axis ?

(@) x%+2y=0

(b) x-‘%—2y=0'

©) y—%+2x=°

dx
d _..__2x=0
@ ¥

Cr DFRG—S-MTH



70. \eNhat.is the solution of the differentie
quation (dy — dx) + cos x (dy + d¥) = 07

(@ y= tan(%)_x+c

(®) }’=%tan(%)—x+c

y=2tan(%)—x+c

@ »= tan(%) -2x+c

(©)

71. Let x be the mean of squares of first n

natural numbers and y be the square
of mean of first n natural numbers.

If %:%, then what is the value
of n?
(a) 24
(b) 25
(©) |27

(d 30

What is the probability of _getting a
composite number in the list Qf natural
numbers from 1t0507? '

72.

L

@ 1o

21

73.
lt:‘ n>7, then what is the probability
at C(n,7) is a multiple of 77

(@ 0

®) =

o —

d 1

74. Two numbers x and y are chosen at
random from a set of first 10 natural
numbers. What is the probability that
(x+y) is divisible by 4 ?

@ 3

o

(b)

(©)
(@

75. A number x is chosen at random from
first n natural numbers. What is the
probability that the number chosen

satisfies x+ %>2 ¢

oy

Al

(®) (2n)

n-1
N

(©)

@ !

C= DFRG-S-MTH



76. An equilateral triangle is inscribed in 2

77.

parabola x% =3y where one vertex ol
the triangle is at the vertex of the
parabola. If p is the length of side of
the triangle and q is the length of te
latus rectum, then which on€ of the
following is correct ?

(@ p=gqg

&Y p=+3q

©) p=23q

() 2V3p=g¢

Consider the points A(2, 4, 6),
B(-2, -4, -2), C(4, 6, 4) and

D(8, 14, 12). Which of the following
statements is/are correct ?

1. The points are the vertices of a
rectangle ABCD.

2 The mid-point of AC is the same
as that of BD.

Select the correct answer using the
code given below : :

(a) 1 only

(b)] 2 only

78.

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the equation of a sphere
x2+y2+22—4x—6y—82— 16=0.

Which of the following statements
is/are correct ?

1. z-axis is tangent to the sphere.

2. The centre Of the sphere lies on
the plane x+y+z=9=0.

29

S
elect 'the correct answer using the
code given below :

(@) 1 only

(b)

2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

79. A plane cuts intercepts 2,2, 1 on the

coordinate axes. What are the direction
cosines of the normal to the plane ?

(a) <2/3,2/3, 1/3>

(b) <1/3, 2/3, 2/3>
et de)
O Gt

(c

-

80. Consider the following statements :

1. The direction ratios of y-axis can
be <0, 4, 0>

2. The direction ratios of a line
perpendicular to z-axis can be

<5, 6, 0>

Which of the statements given above
js/are correct ?

(a) 1 only
(b) 2 only

(©)
(d) Neither 1 nor 2

Both 1 and 2

C- DFRG-S-MTH



81. PORS is a parallelogram. If —};13 =a

84,
el poe Sl What are the values of x for which the
OS=b, then what is PQ €qual

to ? angle between the vectors
' 2204354k and 27+ 5%

- 1S ob 9
(a) a+b - 4/,)'»‘/’ .

P (@) Jo<x<2 (L /';:\J"
(b) a—b = (’L(\

() x<0 )\
(c dhy ©) x52
2

a-b

@) 5

85. The position vectors of vertices 4, B
and C of triangle ABC are respectively

o - : A .
82. Let a and b are two unit vectors such P4k, 374+ )+5k and 37+3k. What is

that a+2b and 54 —4b are perpendi- angle C equal to ?
cular. What is the angle between a
and b? (a) %
n
@ % .
g ®) 7
| © 3
/4
©) 3 e
/1
T @) 2
@ 7
86. Let z= [y] and y= [x] —x, where .[.] is
83. Let a; b and ¢ be unit vectors lying the greatest integer function. If x is not
on the same plane. What is . an integer but positive, then what 1S the
- B S T value of z?
{(32 +2b) X(Sa-4c)}-(b+2c) |
_ @]-!
equal to ? RIA S
-8 ® 0

-32 1 N
(c) 8
(d)) 0

@ 2

C - DFRG-S-MTH
31
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= gla{t(?o= 4x+1 and g(x)= ks +2 such
value ff( );c)'): gof(x), then what is the

(@))7

(b) S

(c) 4

d) 3

88. What. is the minimum value of the
function f(x) = logyo(¥* +2x 11)?

(@ O
(b)) 1
(c) 2
(d 10

&
\ \I
J~
89. What is I (x*)? (1+ Inx)dx equal to ?

(@) x>+c

L2xte

Vg
(©) 2xF+c

@ 3¥*e

90, What is | (14 Inx + xlnx}dx equal

to ?

(a)| xe‘lnx +¢

(b) *renxte
(c) x+einx te

(d) & +inxt+¢

33

91 Phrew:tas
ree fair dice are tossed once. What is

t .y
he probability that they show different
numbers that are in AP ?

1
@ 3 )

(b)

=

©

e
1 b
Wi CO 7.17

&Kl=

92. 1f P(4) =05, P(B)=0-7 and

P(ANB) = 0-3,
then what is the value of
P(ANB") + P(ANB) + P(ANB) ?

Y
(@) 0-6 \\\“

(b)) 0-7

(c) 08
@09

93. Five coins are tossed once. What is the

probability of getting at most four
tails ?

(a)

=

N7

(b)
© 3

@ 3

C- DFRG-S-MTH



94, .
Three fair djce are thrown. What is

the probabil;
ity of getting a total greatcr

19

|

(@)

‘3\

® 5
A

5
“

\\

=

(©)

(d)

95. The gmbability that a person hits a
target is 0-5. What is the probability of
at least one hit in 4 shots ?

1
s
©) ¢
16
4
(d g
96. A box contains 2 white balls, 3 black
balls and 4 red balls. What is the
number of ways of drawing 3 balls
from the box with at least one black é*
ball ? | : .
(a) 84 ’3‘[‘3 ;
/.
(b) 72 =
(c)) 64 A &
L U 1 \/M
(d) 48 @ L) el /
N

T

£

97. Duri
E\mng war one ship out of 5 was sunk
vn an average in making a certain
oyage. What is the probability that

exactly 3 out of 5 ships would arrive
safely ?

@y 625"

e

Vol
CARR T
¢

32
625

(b)

640

© %25

128

@ %2s

98. A card is drawn from a pack of 52

cards. A gambler bets that it is either a
spade or an ace. The odds against his

winning are
W
'l /‘\ \

(a)
(b) 35: 17;2‘,
0
Y :

© 17:35 7%
@ 43955
. A N

The coefficient of correlation between)
ages of husband and wife at the time of
marriage for a given set of 100 couples

was noted to be 0-7. Assume that all
these couples survive to celebrate the
silver jubilee of their marriage. The

coefficient of correlation at that point
of time will be

(@ 1

(b) 09
(c) 107
@ 03

9:4

+

99.

C - DFRG-S-MTH



100. ;1:;9 Cgmpletion of a construction job
Y be delayed due to strike. The
g‘%?%blhty of strike is 0-6. The Pro-
ca ility that th_e construction job getS
.ompleted on time if there is no strike
is 085 and the probability that the
construction job gets completed on
time if there is a strike is 0-35. What is
thg probability that the construction job
will not be completed on time ?
@ 035
(b) 045
©) 0-55
@ 065

Consider the following for the next two (02)
jtems that follow :

The mean and standard deviation (SD) of
marks obtained by 50 students of a class in
4 subjects are given below :

Subject | Mathe- Physics | Chemistry Biology
matics

|

Mean il
5 Marks 40 28 38 36

SD 15 12 u4 ~ 16

;f 101, Which one of the following subjects
"’QQN shows highest variability of marks ?

@y Mathematics
(b) Physics

(©) Chemistry
(d) Biology

102. What is the coefficient of variation of
marks in Mathematics ?

A 375%
(b) 380%
(c) 385%
) 39:0%

37

‘L /
£

Vi

C()n 1
S)Sl,der the following for the next three
items that follow :

Conside
QR { :
o grouped frequency

W 0-10 | 10-20] 20-30 { 30-40 | 40-50 50-60

‘\2\4 Gl 4 | 3

103. What is the median of the distribu-
tion ?

(a) 34

(b) 345

(c) I35

@355

104. What is mean deviation about the
median ?
(a) 11-4
(b) 11-1

(g 108
@)105

105. What is the mean deviation about the
mean ?

(a) 10:15
1065
© 1115
(d) 1165

; cosx)"5 - s'mx)"5 &
ual
106. What 15 -‘L—J;;x_é:o_sxr’ eq
to?
(a) sin —lcosx +¢

(b) Jsinx +~cosx +¢
©)] 2 sinx +2+/cosx +¢

@) —%\/sinx +—;—«]c0sx +c
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107. I y=@_8b’ b xz_w\, @ 2
then what is %’ equal to ? (b) %
@ xVx*-16 ©) %
®) x-+x2-16 ;
2 @ 3
©)) Vx*-16
~ o B 111. What is the area of the region bounded
@) 4x2-16 5 by x—|y|=0and x-2=07?
. - (@) 1
108. If y=(x*), then which one of the
following is correct ? : g 2
(c))4 .
@ L+xp1+20m0)=0 .
& @ 8

dy_ ~0i e
() 72 121 f(@)=secPo~1, then what is

(c) %—2xy(l+ Inx) =0 i %}5 : equal to ?
@ Lr2ny(+im0)=0 @ fl@=P
®)] f(a +B)
109. What is the maximum value gj; © F@fB)
3(sinx—cosx) * 4(cos>x — sin x) ? & 7 .
W{I \14x2%), then, which
{ o 3. If f(x)=In(x+ 14x“), then, whic
o «/—2- . ' 2 “ o i . one of the following is correct ?
© \3 | .l = i
@ | ©) f0)-fED=0
110. What is the area of the region (in the W £(3) = £(=%)
st quadrant)bomded by y =i @ f@ =2
y=xandy= 07?

C - DFRG-S-MTH
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114, What is fim ——2— equal 10
x=04/1—cos4x i._""'_L;

St
Wi r
© 2

115, What is lim 4X=2%
rsE COSX

(a)) -4
(®) -2
() 2
(@ 4

116. If f(x)=—
lim f(x) equal to’

x—0
@0
® 15
) 2

0%

118, Let 1

7 LN
119. Ify=Inz('x2 x+l) , then what is Q

' X) be a functi
() = g(x) and f"(;)O: f}%‘c‘). thL:tt

h(x) = {£(x)}2 + 2 A
the followin}g staifxgz}m; Thm e
1 h '(3) =0
2. k(1) = h(2)

-Which of the statements given above
is/are correct ?

)’ /0{
(@) 1 onl
nly 0'11)( .
(b) 2 only
(C) Both 1 and 2 /*)/

(d) Neither 1 nor‘-t_\2

x“+x+1 | dx
atx=0equal to?
(@) 2
)0

ke

10 Ifidx(l_._%;‘v_x‘t

whiéh one of the following is correct ?
@@ a=b T

®) a=2b

©) a-i-b='0

,E))zagb
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